Do Now: From the Exercise section of the packet from last
Thursday #5

Exercises 1-6: Solve for exact values of 8in the in-
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Continuing from Thursday...

Name: Date:
PC: Solving First Degree Trig Equations Ms. Loughran
Examples:

1. Solve for 6, to the nearest degree in the interval 0° <8 <360°.
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4. Solve for @ to the nearest degree in the interval 0° <8 <360°

3(sinf-1)=-4
(U smB =%
3(x-1y=-4
3-3=-4

3Y = -lJ—

£=3 199" 341°]
Sind= ‘Jg
ot (%)= My’

§ \ A AT : 1B° +947...° = M94%..°
AW = 360°- 19.47...° =390.628...

6. Solve for @ to the nearest degree in the interval 0° <@ <360°
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8. For 0°<6<360°, solve : [2cos@-3|=5
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